


1.

Straight Line Graph

Aline ,L, has equation 4x + 5y = 9. Points A and B have coordinates (— 6,7) and
(1, 9) respectively.Find the equation of the line parallel to L which passes through the
mid-point of AB.
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2. Variable x and y are such that when eVis plotted against x, a straight line of gradient
%, passing through (10, 2) is obtained.

(a) Find y in term of x.
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(b) Find the value of y when x = 45, giving your answer in the form Inp.

5’2;"“(%)(;;-1)

-.'_Ll'll‘
4

:‘ﬂz

(2]

(c) Find the value of x for which y can be defined.
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3. Variable x and y are such that when (/; is plotted against xz, a straight line passing
through the points (9, 8) and (16, 1) is obtained. Find y as a function of x.
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4. The points 4, B and C have coordinates (2, 6), (6, 1) and (p, q) respectively. Given that B
is the mid-point of AC, find the equation of the line that passes through C and is
perpendicular to AB. Give your answer in the form ax + by = c, where aq, b and ¢ are

integers.
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X 1 . 2 3 [ 4 5
y 20 57 104 A 160 | 224
Tnx o 0.693) 1.0986 1.3963 |.609Y
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The table shows value of the variables x and y, which are related by the equation y = Axb,
where A and b are constants.
(a) Use the data to draw a straight line graph of Iny against Inx.
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(b) Use your graph to estimate the values of A and b. Give your answers correct to 2
significant figures.
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(c) Use your graph to estimate the value of y when x = 3.5.
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6. When In(y + 2) is plotted against ’a straight line graph is obtained.The line
passes through the points (2. 25,9.37) and (4. 75, 3.92). Find y in terms of x.
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7. The perpendicular bisector of the line joining the points (— 3,%) and (6, — %)

passes through the point (2, k).Find the value of k.
- -4
J

m=‘%'%
6+d

_-3
= —

™m =3
midp*‘(% "%)
y= 3x+C
-Y% = B +©
C :-'5/3
y=3%- 16/,

k- 6-ie/
- 18-16 .y,

me—————

3

[4]



8. (a) A straight line passes through the points (4, 23) and (— 8, 29). Find the point of

intersection , P, of this line with the line y = 2x + 5.
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(b) Find the distance of P from the origin.
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